% o A 4 AIl'TAC

TN 4 7

O JE st
g e H
O 5E AR L T B AN BT 6 i R
M, RS T R A9 R R g
5] P BE .
PE-3 &1

FEACHY SR TH B AE O, (1 D B A
He . B E R A AEERE, KRR,

e e

i P NS L2 BT 5, R A AT A S
FIH A 2 M A R

B e 44

0 1 5

K R 5 o AL Ty BT B wt, O (SRR

Bt il glg
[ il [ 1

O B K

AR (mm ) 10 16 | 20 I 25 | 32
M{ER =L a7
TR = |
A ) RE 7 6 3 Kef/em’ 1~9
LR AEI R AT Keffem® 13.5
i R HEE C 0-~70
i B /s 100~500
Eﬂaﬁ 7 mm —10~0
BRI bl G
A Bl T 0.4° 0.3°
O M5 x 0.8 | PT1/8"

817 &

P (mm ) B AT RE BRI P IR
10 100 20 30 40 50 60 70 70 100
16 10 207 30T OIS0 R 60 FOE 80 90T SO0 I 257150 150 200
20 10-20= 30 40="50:—60~"70 80 90-=100 125 =150 150 200
25 10" 20 3040 500 60 701 80" 90" 100" 125" 150 150 200
32 10 20 30 40 50 60 70 80 90 100 125 150 150 200




# R 4 AIlr'TAL

TN 4 7|

o AT
IN 2l A CEal s = 4
% 5 K 5 7 oA PR e P

BEFS: TN20x50-S,

2) WRT AT 8 75 32mm, 17 B 60mm,

|
1) TS AT R B 20mm, 17 F2E550mm,
TN il i

% 7% A R FRERE: 7 14 B A B 0 A, L IE FREAOTT RS
4 1B RHERL . TN32 %60,
B A
St Mﬂﬁgfﬂ
o Py
S Shoe - 8 -0 S i 7] 1314 15 16 17 18
I, Sy
i \_ / 7 Frik]  4EE |k A
4_ ey 1 | sl | 2 S g
3 : 3 | w4 il
; 5 Bl 6 GRS
4 1 7 | CE | 8 | miZ0A
1 .- & } H 9 Bl 10 | sl
5 (In e 1| AM || Emwr
52 13 16 ZE 14 iy
o | 15 | #HEOL | 16 T} A2
F - . 17 [ #xos [ 18] e
; i lﬁj] X ‘ 19 =
O EER T
PR 10 ] 16 | 20 | 25 32
Al u.::%
{2 e
18 ZEFT e e ( %ﬁﬁﬁ%ﬁ@@'ﬁ )
2 4 B NBR
iHAE O 4 NBR
HifA 2 0 4 NBR
AT PU
T EEAT O 4 NBR
Rt R
C I i % )
il $EEs
B $HES
HEE L
0 o048k
B2 7 ) HHE 0L HIfEZ 04 TEEA 0 &
ERETE Vs 1 2 2 1
10 PDU-6 APA-10 10x 1.5 P12
16 PDU-8 APA-16 16x 1.5 P16
20 PDU-10 APA-20 20x 1.5 P20
25 PDU-12 APA-25 25x 1.5 P20
32 PDU-16 APA-32 3215 P25




# b B4 AIlr'TAL

TN 4 7

0 KRERS
TN &
A+THE x 2
G10
B+i7#E C+TH#
17 15, D+02+f7% _
=1 E+0.2 ‘ HFL2- 3.4
L5 b 6756.2
O e o f%ﬁ«b% B L L
EREER R == — - Z
i FREEET i <t
R e i % -
2-M3x0.5 2-M3x0.5 L2~ 3.4
B & 673,30 = fL
’lg‘
= 2-M5x0.8
e O
E
AN 8 ¢ i f s 10 20 30 40 50 60 70
10 58 12 46 10 30 30 35 40 45 50 55
$32 } A+THE x 2
B+{THE C+iT#2
40 17 D+ 0.2+47F2
38 1%‘;@ 12 E=0.2 | HEFL2-b5.5
[ (e S O 13.2[ E AL
! — B i
@. o I : / =
! Sl = w = E ; ; S
@ :wll o & a2l = Tt i ; G + 5
i il cof (] ¥ i KA A o
A 1 | ez - - 0
o i of L: LA :
2-M6x1  2-M8x1.25/ @\ HfL2-$5.5
%10 Hi5 o OTES 48 E AL
Py ]
L E T e
| i
| 2-PT1/8
BEEOR

14 ey =
e EEAYRTA 10 20 30 40 50 60 70 80 g0 g0t 25 150
32 108 | 30 | 78 | 35 [ 45 50 55 60 65 70 75 80 85 90 1025 115




L& ER AIlr'TAL

TN% 7|
$d16~$25
AITFE x 2
B+i7f& C+{7#2
9 15 D+0.2+f7F2
o
M \FAAAE _H = |E+0.2 2-P1
| L T8 L
'é o " 5
4 5, © 3
@ o ! )
| O-
N 2-M4x0.7 EET
' \ 2-M5x0.8
BEOE
il e G R B E Falbo g
PR 10|20 |30 40|50 ]| 60|70 |80 | 90 |100]125]150
16 68 | 15 [ 53 [ 20 |30 |35 (40 |45 [50 |55 |60 |65 |70 75 [875[100] 8 | 47 [ 6 [ 24
20 78 | 20 | 58 [ 20 |35 |35 (40 |45 [50]55]| 60|65 [ 70] 75 [87.5[100] 10| 55 [ 9 [ 28
25 81 | 19 [ 62 [ 30 |40 | 40 [ 45 | 50 [ 55 [60] 6570 [ 75 ] 80 [92.5[105] 10 | 66 | 8 | 34
HEERE J K[L[M[NI[N2 Pl P2 (o S ] ]
e SR D75 % 7.2mm, | B 08 & 4.4mm,
16 MAx0T7%5]|47(53 (202210 7 D5 BT S 34| 4 |54|21| 8 |62
- BEE 075 3 7.2mm, | B D8 ¥ 4.4mm,
20 M4 x0.775]|55 |61 |24]|25]12 7L D4S B DS 4416 6225|1082
s S 075 7.2mm, | i 08 F 4.4mm,
25 M4 x087%6|66|72]|29]30]12 7L D45 BT DA s6| 7 |73]30(12 102




